SH2EERBRETE=2) TR RENET—5 (BAL: 4 Sv/h)

SH25F 8H3H| 8A108| 88178| 8H24H| 8831H
RN E 0.083 0.082 0.08 0.079 0.088
FEAIILEE /R 0.068 0.075 0.089 0.086 0.082
HEREISE/NER 0.079 0.074 0.081 0.083 0.086
AHEREILEE/NER 0.09 0.096 0.089 0.093 0.097
FEEREAET LT B/IER 0.085 0.082 0.079 0.073 0.078
HEE BT &/ FER 0.074 0.075 0.076 0.077 0.074
FEEAET L KB/ 0.076 0.082 0.068 0.089 0.082
N L2 0.068 0.061 0.062 0.07 0.07
EEHEFTVEZROR 0.054 0.051 0.049 0.052 0.052
FEAEI AR PR 0.049 0.051 0.05 0.055 0.053
HEHERBT IR PR 0.055 0.05 0.055 0.055 0.056
HERAETMLEERER 0.065 0.063 0.065 0.068 0.056
FEERIFAHREEFR 0.056 0.054 0.056 0.055 0.058
REERIBHREEFR 0.047 0.048 0.047 0.049 0.052
POREEMR 0.065 0.061 0.062 0.062 0.068
HERETRESE 0.042 0.042 0.043 0.043 0.047
(AW EDLMME 0.061 0.058 0.06 0.066 0.063
EERAE K 2—) 0.053 0.05 0.052 0.05 0.056
&+ 0.042 0.043 0.042 0.045 0.048
th iR it 0.047 0.046 0.047 0.049 0.048
FHAR 0.049 0.048 0.045 0.047 0.049
RSt S hplreo2— 0.055 0.057 0.054 0.059 0.059
INHEBFAE 0.072 0.073 0.073 0.075 0.077
IWiRERHAE 0.061 0.061 0.06 0.066 0.069
EFR R 0.051 0.049 0.05 0.053 0.056
ZELDVAIE TUE 0.057 0.057 0.054 0.057 0.058
K5I ELE 0.047 0.048 0.049 0.048 0.052
VDEHOYIELHE 0.039 0.039 0.038 0.041 0.043
TA—Fay T4 A—TV 0.037 0.037 0.04 0.038 0.04
BERKETR5 0.052 — 0.053 0.051 0.053
REBIHIG 0.049 0.048 0.048 0.05 0.05
i) 3t X JB 55 SR YR HE K Q0 R B 0.051 0.05 0.051 0.053 0.052
EREFRELF— 0.048 0.048 0.048 0.049 0.049
REERER AT 0.036 0.037 0.037 0.037 0.039
L PFRETEG 0.038 0.04 0.038 0.039 0.041
|B v iR /R Bifdth 0.073 0.072 0.071 0.078 0.075
AH/NEEER 0.051 0.05 0.05 0.053 0.051
BIIFES 0.057 0.056 0.057 0.058 0.057
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